
2/18/2014

1

Cleo: Problem 1 Find the equivalent 

resistance at terminals a and b.

(2k-ohm)

Cleo: Problem 2 Reduce the circuit to a 

single resistor at terminals a and b.

(14 k-ohm)

http://www.rose-hulman.edu/CLEO/browse/?path=1/2/79/91/92/70
http://www.rose-hulman.edu/CLEO/browse/?path=1/2/79/91/92/71
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Find the equivalent resistance seen by the 50V source

Cleo: Problem 3 Find the current i in the 

circuit. (First find equivalent R seen by 10V)

4.38 mA

http://www.rose-hulman.edu/CLEO/browse/?path=1/2/79/91/92/72

